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B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2012
' Part - II

PHILOSOPHY — HONOURS
Paper - IV
( New and Old Syllabus )

Duration : 4 Hours [ Maximum Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.
( NEW SYLLABUS )

Answer Question No. 1 and any six.questions taking two each from |
Groups A, B and C.

SR 2l 93 feter=s, < @R 9t &Sl (e v v ol A i =S s Owa e |

1. Answer any five questions : 5x2=10
@ i %5 oeem e i ¢
a) Distinguish between a truth functional compound statement and a non-truth

functional compound statement.

Ao (T A @ SETeRters (e AER Nay ANl I |
b)  What is the negation of a tautology ? Why ?

96 TSSO v A1) F1 @32 (@ 7

c) Can an invalid argument form have valid substitution instances ? Justify your

answer.
(I Bty Y& wipicas [ ay Heain 181 Aeee #I1ca 7 SoHE Serad A e fm |
d) What is counter example ?

J4E RS IS A 7
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Is the following statement correct ? ; “ :
frmre e St v ¢

(Ix) ~Mx=~(x)~ Mx

What is existential fallacy ?

ARGl (A Bl 40 ?

What is propositional function ?

FBATAHHFE BICP A 2

Give the form of the Method of Concomitant variation.
What is Crucial experiment ?

fReffe 2T $1t ace 2

What is addition theorem in probability ?

NS @A 54 I 2

GROUP - A
faetel -3

What is the difference between argument and argument form ? Write with

example. NTE -4
Ife a2 G i T o Fi 2 Srigaeer [ga |

Can we get a tautological proposition by denying a tautological proposition ? - 2
96 FozY) AN ey Face & FoeTe) A1 Avew T 2

Determine whether the following statement forms are tautology. self

contradictory or contingent by means of truth-table : 3+3
T 2 oA WereHsT Fowrey, T A wefes of fidh = :

i) polpolq.~q)l

ii) lipoqiobl = lgoplor]
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If Japan continues to increase the export of oil, then either Korea or China wil
suffer economic decline. Korea will not suffer economic decline. It follows that il

Japan continues to increase the export of oil, then China will suffer economic

decline.
FoPaTa e [exie yfeba tage fas a0 ¢

I Foim TS tod ARl 3 @0, wizeE T @fEE 927 -7 SEifes S 73
@ifaar Sifqifen sen 7@ @ | AR, ﬂﬁmmmt@aa@ﬁﬁm SEGRC
wefdifen T 2 |

Distinguish between rules of inference and rules of replacement. 3

ST s @ eifegieima Faem wwa s s |

Construct formal proof of validity of the following asrgﬁments : 3+
( Do not use CP or IP )

i) JV (~d.K)JdDL [/ odL.d)sd

ii) If the aeroplane have engine trouble, it would have landed at Dum Dum. |
‘the aeroplane did not have engine trouble, it would have landed al
Gwahati. The aeroplane did not land either at Dum Dum or Gwahati
Therefore, the aeroplane must have'landed at Shaktigarh. '

o7 Y& SRFReTe tagel w4wid @ ( CP SI%Al 1P 2eie 391 AR A1) ¢
g, JVI~dKLdnlok -t diwd

i) v f=foa 2fem em Gecel, o1 o wmo ancet | 3w [wmfba 2fge Fwem |
Aerel, ©ed ol (MRIbre Areeel | K s wew b s | e R
T2 *f&NT @EE |

Proof the invalidity of the following arguments by the method of assigning truth
values : 3+

FOTIE) SN “@fod JRICW A5 FEal st aune a ¢ |
)i A>-B CoD BVC .~ AVD

) T=U U=(V.W)V=(TVX) . T.X “
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How can the truth-tree
e(juivalence ? Explain with example. 3
S “afs AR A e it AR e Fefa a1 A 2 Tuizgenz AR 3 |
Use truth-tree methed to test the validity of the following arguments : 3+3
e ofefs il e A YRR Casol R e ¢

)  E-F G->F . (EVG) » F

ii) (A& Bl C, —A-»D  B{€ND)

Use truth-tree method to determine whether the following sentence is a
tautology : : , 3

Foridl s vl Fra Fef 3w, Tva Awf ToeTe o ¢

As(—A>A)
Use truth-tree to determine whether the following set is consistent : 3
FEPIA 2MafS 2Tl T Tpa AT G Aeaifesyef i Refa w ¢

— (P& Q), — P Q, Po—Q. :
Is there any relationship between tautologies and valid arguments ? Explain. 3
HSE) AL 4% LA 2R e o (ol 7wik @i 2 11 5 |
Use the method of conditional proof to verify that the following is a tautology : 3
Arfie eI oFafn FRIC FCATE M (1 FoLe) ©f 2 236 3

Pt P
Give conditional proof of validity of the following argument : S
fafais 3feha taver e e i

Jo(K>~N), (M.N)>N, O>(M.N) .. Jo>(K>~O0)
Use the method of Indirect Proof to verify the following is a tautology : 3
SATATF 2 “fafen AR 2w Fea @ fnfaiie aml Fore; @

P=~~P.
Construct an indirect proof of validity of the following argument : 3
fFrfafie 3fefa tauerm sicars i a1 w6 3

(DNE) S FoGYii=6 ViH) o/ LB F Y s G
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6.  Test the validity of the following arguments by Venn diagrams indicating the mood and
figure of each of them : (1+13+3)%x3=15

I @ 7w T aa Fnfale gfeafn tare fv o ¢

a)

b)

c)

b)

c)

All that glitters is not gold. This ring glitters. Hence, this ring is not gold.
Wmmmﬁmm | 9% = seve I 171@1:@3‘@1:% A 1 |

There are handsome men, but only man is vile. So it is false that nothing is both
vile and handsome.

Wmmmmwﬁﬂsa}% | A, 951 W @, 9 @ @3 @b @
A |

No men are non-mortal, all kings are men. Therefore, some kings are mortal.
(@ T T S-SRI, FFT QST T TR | FSAR (@ (I A1 - TE e |

If we accept Boolean interpretation of traditional propositions, then a drastic
change would affect traditional square of opposition. Do you agree ? Justify your
answer. ) 6

i S SToRefes abtae gein ©iFy T IR -orRrE enfere Ay seree aw e
Afaaeq wipia | i G At ok 9IS ? fitea awr@m «iv% gfe faw |

What is a ‘Null class’ ? What is its importance in the Boolean interprefation of a
categorical proposition ? 5

WS’ (i F1 2 Faers I ER I G TG F 2

Express the following in the Boolean notation and symbolise them by means of
Venn diagram ( any two) : 2+2

ﬁﬁﬁﬂ@m@%{wﬁaﬁm@mwm\mwm%ﬁ@w( @ @AqH )
i) Fairies do not exist. .
AT (T (TG @2 |
ii) John is not wise.
T AT | &
iii)  Some flowers are white but beautiful.

@ @ e 7 f5g v |
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State and explain the limitations of the rule Existen@ﬂt%ﬁtiation t K1) 3
E.I. Facm Saraersfs Sraasids a3 ¢
b) Construct formal proof of validity for each of the following : 3x4
fesTe g ofem Smere Taaerm e 15w 39 ¢
i) ExX) (F% D Y A 3x Y U =G Y i -#v4%x) (G D Fx)
ii) Socretes is mortal. Therefore, everything is either mortal or hot mortal.

B T SRR | AN, FRIPRE T SRPTIE Sl SRR 7Y |

il)  Doctors and lawyers are college graduétes. Any altruist is an idealist. Some

doctors are altruits. Therefore, some graduates are idealists.

TIGR G BRECER FEAT-ROT | (A (@PH APAAM 24 ORAM] | (P (TR SIS 2H
| ALAAN | YSAR, (PN (PN FOF 2 SREIMA] |

a) Symbolize the following sentences by using quantifiers. variables etc.

( any three) : 3x2
frferie aRmafis s, aree Tonfia AR Aeeow et e ww (@ @ fo b ) ¢
i) Jatkson is a good singer.
' I oIS |

ii) Any car with good brakes is safe to drive and safe to ride in.

©F @@ AL NG B @ 581 faiem |
iii)  If something is well-trained horse, then it must be gentle.

T o g RIS (el 23, orReE G ' 2@ |
iv)  Only policemen and firemen are both indispensable and underpaid.

(@< AT G TR S ATATSTA I G FA-([TOANE |
V) Not everything is made of gold or silver.

" RfFER G W2al Tl 0o 7 |
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b) Prove the invalidity of the following arguments : 3x3=9
ﬁzﬂqﬁaﬁamwmﬁwz_
i) =i 3l B~ Cxl, (XY Deg ~Cx)y .5t x){ Dxs Bx)
i) (3x)(Mx.Nx) (3x)(Mx.Ox) .. (x)(Ox> Nx)

il) No employer who is either inconsiderate or tyranrii‘cal can be successful.
Some employers are inconsiderate. There are tyrannical employers.
Therefore no employer can be successful.

o R R SRass SREl CIRISIR A1 oS $40S AT | fog farameres
WREET | CFHIGR MEnses) wieg | FoAl, (S Wases! 7we 20s «ina= a1 |

GROUP - C
faetat - o
What is an explanation ? What are the differences between scientific and unscientific
explanation ? Explain with illustrations. 3+ 12

QI B ACE ? (WS 932 SARNAT I N F S 2A12FT R 7 SAIZIHZ A4 94 |
What is a hypothesis ? What are the criteria used in judging the worth of a

hypothesis ? 2 5+ 10
mﬁ?mmﬂmmﬁ@ewﬁmﬂv@mwwwu :

Critically discuss Mill's joint method of agreement and difference. 15
Rt Sra-Aferad) wafe RvReE SIeams a9 | ,
Calculate the following cases : : ' 3x5=15

fF=ffre crasfacs s e
i) What is the probability of rolling three dice so that the total number of points
that appear on their top faces is 3, three times in a row ?

memm@ﬂmﬁehﬁmmmmﬂaﬁmmﬁmw)mﬂm 2

P ?

ii) What is the probability of getting at least one head on two tosses of a coin ?
93 JACF YR FCH 90 903 9FA (TS ATR T[S 9 2

iy  If three balls are selected at random from an urn containing 5 red, 10 white and
15 blue balls, what is the probability that they will all be of the same colour (a) if
each ball is replaced before the next ball is drawn (b) if the balls selected are
not replaced ?

a3t ot 5% @, 10 Arn, «az 157 T aves aa weg | oEf (A foal 1@ eiee,
ﬁﬁtﬁﬁaawmdww—(a)ﬂﬁmwmmemm (¥) I coreT 39
(FAE A (ST T ? ;
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Answer any six questions taking two each from Groups A, B and C and five short type
questions taking from Group-D. '

e, 4 93z o ofsl (s 4o 3 2 Ay i e fo e Sea fim | fJetw (s @ @F el

Aefe eie Bea fam |
GROUP - A
e -=
Bl a) Translate the following sentences into standard form of categorical
propositions : : 4

frsfeifre arma s smed st Facers e wrmfiie aw @
i) If he asked to say a few words, he talks for hours.-
ST T P IS ] 2 mmﬂatﬁs‘mmw |
ii) Members can use only the front door.
iii)  There is nothing made of tin that is not cheap.
for fAfife @s cim f&fm % 31 7 =iw |
iv)  Only some students are players.
(e fog 99 2 (NETS |

b) - What do you mean by distribution of terms in a proposition ? Illustrate your

answer with reference to four categorical propositons. 4 +4

5E 2072 IS 96108 B @RI 2 5130 SWeoF 6 T TR SHIZAIZ AN 39 |
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c)

b)

c)

d)

e

If “some ﬁsﬁ;’sjfalse determine the truth-value of the foilowing - 3
i) No non-Pis S

i)  No non-Sis non-P. »

(I (I F 2 4 oAl T e 2w o RafeResfem srerEn At a5 2
i) . FEO-ATAF |

i) (FH G 71 9-9 |

Why do the universal propositions not have any existential import according to

the Boolean interpretations of categorical propositions ? _ 3
@ [aTei A0 FER SR SEEAICA A IS (P WTGLTs Olesy @2 2

Do you accept contrary and sub-contrary opposition of propositions admitted in

traditional logic ? Explain. ' 4

HaF SFfaEm Fige Rerde ¢ wil [edrs Rafaerns & sisif azewae 3@ s@m 2 31
P |

Why are not the converse of an A proposition and the contrapositive of an E

proposition logically equivalent to the original pfopositjons respectively ? 4
(@4 A WA TG ¢ E I5TR HARTE, A 6 E 56 MY (GO0 FIAN 77 2

Express the following in the Boolean notation and symbolise them by means of

Venn diagram : 2 * 2
fAtare amafre 3er e e s g3t ceafora Bfas < ¢

i) Nothing is beautiful except truth

ii) There are no gl;losts.

T 12 |
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Test the validity of the following categorical arguments by Venn diagrams showing
their mood and figure : 3x5=15

Frare smcers R SrEmsfer IS ¢ Fegm Fom a9 ¢ ceafbra g tagel o o ¢

i) Whenever I'm in trouble, I pray. Since I'm always in trouble, there is not a day

when I don't pray.

T4E Wi wrjfaam #if%, ©eAg 21 IR | carEe Sl R erjfad wefas, el G i
@2 @, wifs e [ A

ii) No figs are coconuts. No dates are coconuts. So no dates are figs.
(@9 T4 AT T | (P (G A 97 | JSAR (@ (I TF 7 |

ii)  All worldly things are transitory, because no worldly thing is non-material, and-
no material object is non-transitory.

S ol Aew AT, FEd (@ AR T S-sT wE, WId (@ 56 e

w-offaadaia 7 |
a) In what figure or figures, if any. can a valid standard form of categorical
syllogism have its middle term distributed in both premises ? 5

@R ALZF A AR SACS (3783 2703 ) @I (34 FER@TTAS S0 A1 Sala (2go
TSN AEERICHIR 17 A ?

b) Identify the form and discuss the validity or invalidity of the following

arguments : 4 + 4
f=faire gfe 1ita cvta wer FEse 33 93z (el favir 94 ¢
i) Copernicus is right only if Ptolemy is wrong. But, Copernicus is not right.

Hence. Ptolemy is not wrong.

@ffwe Sarg 3 g Sl 9 A | e @R Smm | ek Gl
% T |

ii) The stranger is either a knave or a fool. He is a knave. Therefore the
stranger is not a fool.

TG0 2 4 78 AR | (T 90 S (@F | JSAR WG @ 7 |
c) What is existential fallacy ? Write with example. 2

- TrIzAriIR SBeE (A I I |
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GROUP - B |
faeiat -4 5
5 a) What is the difference between material-and logical equivalence ? 4 '
s ¢ (A& o sy wAifer F 2 |
:
b) Determine whether the following statement forms are tautology. self-
contradictory or contingent by means of truth-table : s 23
TP R Tea el Fere), 7 Tl a1 wefes ©f e 3 ¢
i) (p=q)V(~p=-~q)
i {(p>q)oplolp>q)
c) Use truth table to determine the validity or invalidity of A/ .. BV ~ B. 3 |
!
Sepifadia e ek gfefa tare siar sitage fefa e ¢ ir
A/ . BV-~B. 5
d)  The negation of any truth-functional contradiction is a tautology. — Is the g
statement true ? ' 2¢. 8
i Fericors Fosfian vt fcay gesTer: — el & e ¢ ;
4
6 a) Construct formal proof of validity for the following arguments ( any three) : "
;
!

3x4

Teve Yo el aaem TRPRsTe e 5w w2 ( @ i foafe ) 2

i)

ii)

iii)

iv)

CHOR)  ESSW LD LHN-S) S EPY- W)
(x)(Fx> ~ Gx)
{3} Hx . GV /o3I CHY - EFx )

Every passenger is either in the first class or in the tourist class. Each

passenger is in the tourist class, if and only if he is not wealthy. Not all

passengers are wealthy. Some passengers are wealty. Therefore some .

passengers are in the tourist class.

wrore A 70 A (ufire T S cafirs e | e @1 BRI cafrs e
Tt qaz (et o o ol 1 2 | 7est TA) 4 T | (R (I G124 | SRR
mv@?ﬁ%caﬁmw |

(OV~0)oW / ~ W

e T ———

=
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b) Symbolise the following ﬁsing quantifiers and variables : 1 é + 1 ;‘

AT ¢ AWSHZ AL ¢4 Aete arafer Ao eae e

i) Any person is a coward who deserts.
(A (RIS 2[EY FI7FT |
ii) There are no tigers that are not fierce.

a3 ANy (72 (Y fE |y

R Find a normal form equivalent to the following : 1 % + 1 ;
HAILP AT SFICA A 2
. )  ~(x)(Cx>~Dx)
ii) ~{(3x) ( Gx .~ Hx).
b) Prove the invalidily of the following by assigning truth values : - 3x4
T SCANCAA QM WAL AN 26 2
2 : i) Something is round. Something is square. Therefore, there are round
square.
(I (PTA TE (MEAIPIA | (DI (I 4G 5097 | o018 (SMeA11a q9(7%a s |
X 4 | ii) Lx) (HxD »1Ix} |
(3xTTJx. ~1X) 7 LT HES O
i) M>(OVN)
O>(RVS)
So.T
B SPTYRI-). o~
pl 8. a) State and explain with examples the rules of method of resolution. ‘ 6
ne ;

CHIRAPIZ Sgarer s Fya «a g awe |
b) Test the validity of the following arguments by the method of resolution. 3+3
AP Smfon M2y yfeafea tas s aa ¢
i) tp-lgawdE /o pataor)
W (p>q)>o(p>5q)/ ~ (p.q)>(p.q)
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10.
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c) Determine what imp
Fellswoop method : 3|
Fellswoop #i&fea 3z Fsfafvs armerafea sy f afSefe was wirg Ada a2 ¢
i) p>oq

) polqVr).

GROUP - C
et - o

Discuss critically Mill's method of concomitant variation as a method of proof and a

method of discovery. 15 ¢

mmqmwﬁmmmm«mmﬂﬁwmﬁﬁmmﬂﬁmww |

Explain the differences between scientific explanation and unscientific explanation. |

i

Discuss, with examples, the criteria of scientific explanation. 6 +9

e 8 WAEIE AR g SN (A | laefie A Are sl qRIeE S |

FEA | I
Write short notes on the following : 7 ; +7 % ]

fraffoefm evm sw<feg Tia figa ¢

i) Necessary and sufficient condition of an event.
WA TR 3R Y =€ |

ii) Cohditions of a scientific hypothesis.

@S AR S |

a) Calculate the probability of the following : 3 x 5|

qea crasfea oo Rda e ¢

What is the probability of getting either the king or the ace of diamond mi
drawing a card from a deck of playing cards ? :

93fb oI aAfea (AT 93 or gra e emifba #2ema aren 4l Gal 2937 HRTS] F© ?
b) What is the probability of getting nine total points in rolling two dice ?
i erer oft Rewe T uiba @orea T 231 STPRpe! IS ¢

R

ons hold between the following statement forms by the '

.
v e ——-—
I o g v ? T—g—

13
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If three balls are selected at rﬁnée*;x’l/ om an urn containing 5 red, 10 whlte and
15 blue balls, what is the probability that they will all be of the same colour (i) if

each ball is replaced before the next one is drawn, (ii) if the balls selected are

not replaced ?

9o #iitg 5% &, 101 s «ae 15 et qcez a5 w=ic | A (Ut o b 3w weire
fofba? w2 26 zeu" Aege T — (i) I COEN I (e ST 2T, (i) I colE I

(FAS (MST T ¢

GROUP - D
feeist -w

Answer any five questions :

@ @ Ao 2w Sea faw ¢

a)

b)

c)

d)

€)

What is a deductive argument ?

SRR IS e A 2

What is a proposition ?

o PITF ¢+ ?

What is meant by opposition of propositions ?
2B Ricafael zee & @i

What is a Complementary class ?

“fRe7e (= T 7 ¢

Why is contraposition of I proposition not valid ?
@ I I eifeada tay 79 2

Can an invalid argument form contain valid substitution instance ?
@35 witad & AR [ ey Fraem 781% Aers #i1g 2
What is a categorical syllogism ?

fFaters SR w1 a2

5 x 2
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;; h) Are two propositions necessarily contradictory if one is tme and the other false ? |
: ot 5T 7o R R R 23 7 il o) R vl e 2w 2
]. i) If pV q=F, then determine the truth-value of 5 (p= q )
: i pVq=F2,ORE ~ (p=q)-5 T Fdad 39 | :
‘ j) Represent Mill's method of residues schematically. E
Moo AT 17T o T W Gorgire T |
|
|
]

I |

D — -
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